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ENGLISH VERSION

1 (a) Following details are available about Swami Co. Ltd. 15

Equity share capital (each of Rs. 10)...... ... 15,00,000
11% preference share capital (each of Rs. 100) ... 3,00,000
Reserves and surplus ....ccoocvveeviviiiiecieeceeeeeneenn. 27,00,000
15% debentures (each of Rs. 100) ................ 30,00,000

On equity shares, the next year expected rate of
dividend is 20%. The growth rate of the earnings of
the company is 10% the average current market price
of equity share is Rs. 25. Assume that the cost of
retained earnings is 3% less than the cost of equity
capital. The current market price of preference share
and debenture are Rs. 60 and Rs. 69 respectively. The
tax rate applicable to the company 1is 60%.
Ascertain the average cost of capital of the company
on the basis of following :

(1) Book value weights

(2) Market value weights.

() Write note : Traditional Approach of Financial 5
Management.

OR

1 (@ (1) The ten years debenture of a firm can be sold 10
at a rate of Rs. 90. The face value of a debenture
is Rs. 100 and the coupon rate of interest is 8%.
If 50% tax rate is assumed; calculate the after tax
~ cost of debt.
(2) Akash Company issues 10% irredeemable
preference shares of Rs. 200 each. The floatation

expenses are 4% and the shares are issued at par
compute the cost of capital.

If the shares are issued (1) at E;% premium and

(2) at 5% discount, what will be cost of capital?

() Explain meaning of Financial Management. Describe 10
Executive Finance Functions.
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2 () From the following selected data deiermining the 15
value of fivrn X and YV below into the homogeneous risk
class under the NI approach and NOI approach.

Detail : - Levered Unlevered

firm X firm Y
- EBIT v 2,00,000 2,00,000
Interest at 10% 50,000 . -
Equity capitalization rate 15% 15%
Corporate tax rate 50% 50%

Which of the two firm has an optimum capital structure
(1) NI approach (2) NOI approach.

(b) Write note — Types of working capital. 5
OR

2 (a) Net operating income of Krishna Ltd. is Rs. 10,00,000 10

and total investment of the company is Rs. 70,00,000. |
When the capital structure of the company do not
consist any debt rate of equity capitalization is 11%
when Co. issues 8% debentures for Rs. 20,00,000. The

. rate of equity capitalisation is 12% when company
issues 10% debentures of Rs. 27,00,000 the rate of
equity capitalization will be 15%.
Find out the market value of firm and cost of capital
of the company under traditional approach.

() Explain meaning of working capital and discuss 10
factors determine requirement of working capital.

3 (a) Following information is available for Mahavir 15
Company Ltd. o
Earning per Share ........coocoveeeecrereeeeeeee B8, 10
Dividend per SHATE .o 0 (zero)
Rate of capitalization is ...........c.ccoeeeeeerenen. 10%

If the rate of return on investment is (1) 10% (2) 16%

(3) 24% (4) 32% (5) 40% (6) 48% (7) 56% what will

be the market value of share as per Walter's model ?
() Write note — Determining the Optimum Cash Balance. 5

OR
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(a) Calculate the value of shave of a fixm from following 10
information
Earning per share .....coccoocvvvviviiviieiiiicneeenne. Rs. 15
Rate of Return on investmient .............c...... 10%
Cost of Capital.......coooveeiviiieiieieeecee e 12%
Rate of retained earning is 20%, 30%, 50%, 60% and 80%.
Give answer under Gorden's model.
() State advantages and limitations of cash budget. 10
(@) Following information is available for Sagar Co. Ltd. 15
for the year of 2016.
Equity share capital (each of Rs. 10)....Rs. 4,00,000
12% debentures ........ccccceeeeeveveviieeeeeviieereeeeee Rs. 3,00,000
Sales (Unts) .....oveveveeeieeiiiciinirreeeeee e e eemeee e 40,000
Selling price per umit ......cc.coeeeeeeee, erreeeenreeaas Rs. 60
Variable exp. (70% of sales)
Fixed exp. (excluding interest and tax)...Rs. 3,20,000
Rate Of TaX...ccoocoeiiiiieeceeee e 50%
Give the answer of following questions.
(1) Find degree of financial leverage.
(2) Find degree of operating leverage
(3) Find degree of combined leverage.
(4) Calculate earning per share.
(3) If the sales is increase by 40% what will be change
in operating leverage ?
(6) By the above change in sales what will be change
in EPS.
(&) Write note — Optimum Credit Policy. 5
' OR _ _
(@ The position of two companies X and Y are as follows : 10
, Company X'| Company 'Y'
Equity share capital Rs. 75,000 Rs. 30,000
Shares of Rs. 10 each 7,500 3,000
Assets Rs. 1,50,000| Rs. 1,50,000
6% debentures . Rs. 75,000 Rs. 1,20,000 »
ot Tasas— 1 50% |- e
From the above information calculate earnings per
share of both the companies if the company's profit
before interest and taxes are (1) Rs. 6,000
(2) Rs. 12,000, (3) Rs. 21,000, (4) Rs. 30,000 and
(5) Rs 42,000 respectively.
(®) Discuss credit procedure for individual accounts. 10
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b Scham Co Lid. is consideving to invest Rs. 4,00,000. Two 20
project A and B are available profit from the projects after
depreciation but before tax provision is given below.

Year Project 'A’ | Project 'B'
1 2,40,0600 2,50,000
2 2,10,000 1,50,000
3 1,60,000 1,50,000
4 1,60,000 1,00,000
5 40,000 50,000
Depreciation is 20% as per straight line method. Tax is 50%
taken on net profit discount factor is 10% as per under 0.909,
0.826, 0.751, 0.683, 0.621. ’
Evaluate the project by following methods.
(1) Pay Back Period
(2) Average rate of return
(3) Net Present Value
'(4) Profitability Index
Which project is selected ? Why ?
OR
5 (a) A company is considering to purchase a new machine 10
for increase its production capacity initial investment
is Rs. 30,000 and estimated life of the machine 1s 10
years. Cash flow from the machine after tax but before
depreciation is given below.
Year Amount
1 .
2 5,000
3 - 10,000
4 10,000
5 12,000
6 14,000
7 10,000
8 5000 .. . ...
9 5,000
10 3,000
Find out IRR of the machine under trial and error
method. ‘ : '
10

() Describe determining various level of inventories.
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